CHAPTER _ _
Completion of Figures

& Embedded Figures

1. From the given answer figures, select the one in which the Answer Figures
question figure is hidden/embedded in the same direction.
(SSC CGL 1+ Sit. 2010) /7
Question Figure: \ui
AN/
(a) (b) (c) (d)
\Q/ 5. Which answer figure completes the form in question figure ?
Question Figures : (SSC CGL 1# Sit. 2012)
Answer Figures: ? @
é J /b/ ; J Answer figures :
() (b) () () 7
2. From the given answer figures, select the one in which the @ @ '@ @
question figure is hidden/embedded.
i _ _ (SSC CGL 2" Sit. 2010) @ ) © @
Questions Figure : 6. From the answer figures, select the one in which the question

figure is hidden/embedded. (SSC CGL 1% Sit. 2012)
Question Figure :

Answer Figures : }—D
o & _5H) o ]

Answer Figures :
oG e [

DIRECTIONS : From the given answer figures, select the one in
which the question figure is hidden/embedded.

(a) (b) © )
3. Question Figure: (SSC CGL 1* Sit. 2011)
DIRECTIONS: In question no. 7, which answer figure will
complete the question figure?
. (SSC CGL 2™ Sit, 2012)
Answer Figures: 7. Question Figure
(a) (b (0 (d) ?
DIRECTIONS: From the given answer figures, select the one in Answer Figures

which the question figure is hidden/ embedded.

4. Question Figure (SSC CGL 2™ Sit. 2011)

s

(a) (b) (c) (d)
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8  From the given answer figures, select the one in which the
question figure is hidden/embedded
Question Figure

[

NA

Answer Figures

dllellellz
By B
(a) (b) (¢) (d)
DIRECTIONS: In the following questions, which answer figure

will complete the question figure?

(SSC CGL 1* Sit. 2012)
9. Question Figure

AN
P iinds

Answer Figure

D\J H O N
~( b~ (D H {
(a) (b) () (d)

10. From the given answer figures, select the one in which the
question figure is hidden/embedded.
Question Figure

=

Answer Figures

S IEIBIE

(a) (b) (c) (d)

DIRECTION (Q. 11) : In the following question which answer
figure will complete the question figure?

(SSC CGL 2 Sit. 2012)

11.  Question Figure

JiS

Answer Figure
" J[dlle]le
(a) (b) (c) (d)

12, From the given answer figures, select the one in which the
question figure is hidden / embedded.

Question Figure

O

Answer Figures

=

(a) (b) (c) (d)

DIRECTIONS (Qs. 13 - 14) : Which answer figure completes the
pattern given in the question figure?

(SSC CHSL 2012)
13.  Question Figure :
Answer Figures :
T
@) ®) [
() (d)

14.  Question Figure :

Paiy

Answer Figures :

(@) ; (b) 7‘)\
(©) ‘) (d)

15. From the given answer figures, select the one in which the
question figure is hidden/embedded. (SSC CHSL 2012)
Question Figure :

a

Answer Figures :

(@) @ (b)
o [D 0

16. Find the answer figure which completes the question figure.
Question Figure (SSC Sub. Ins. 2012)

T

(N

=

\§]

Answer Figures

) | 7

(a} (b) (¢) (d)
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17.  Select the answer figure in which the question figure is
hidden. (SSC Sub. Ins. 2012)
Question Figure

!

Answer Figures

|
I

(2) (b) () (d)
DIRECTIONS (Qs. 18-19) : In each of the following questions,

which answer figure will complete the question figure?

(SSC Sub. Ins. 2013)

18,  Question Figure:

©

K

l_>! n"-_g

S
&
v

@ K

o @)

@

@)e

©
19. Question Figure :
N

v

Alp
., |V

A%
Answer Figures:

@ ®
© @

DIRECTIONS (Qs. 20-21) : In each of the following
questions, select the answer figure in which the question

figure is hidden/embedded.

(SSC Sub. Ins. 2013)
20. Question Figure:

W

Answer Figures :

(a) 2 (b)

e

(© (d)

21.  Question Figure:

g

Answer Figures:

©

(@ ® |\
«[&

22, Which answer figure will complete the pattern in the question
figure ? (SSC CHSL 2013)
Question figure:

|
|
874

| I |

(a) (b) (c) (d)

23.  From the given answer figures, select the one in which the
question figure is hidden/embedded.

(SSC CHSL 2013)
Question Figure :

L

Answer Figures:

| -

(@) (b) (c) (d)

DIRECTIONS : In questions no. 24 to 26, which answer figure
will complete the question figure ?

(SSC CGL 1* Sit. 2013)
24. Question Figure :

X

Answer Figures :

Sl

(a) (b) (c) ()
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25. Question Figure :

EOE
O
?

.
A
&)
=

Qe

Answer Figures :

[o]a ] B0
(a) (b)
Question Figure :

(d)

26.

Answer Figures :

ENIIEN

(a) (b)

B

(d)

N

(¢c)

Answer Figures

B

&)

D

(a) (b) (c)

(d)

DIRECTIONS: In question no. 30 to 31, which answer figure
will complete the pattern in the question figure?

30. Question Figure:

Answer Figure:

(SSC CGL 1+ Sit. 2013)

N

414

(a) (b) (c)

31. Question Figure:

=)

0

*

DIRECTIONS: In guestion nos. 27 and 28, which answer figure
will complete the pattern in the question figure?

(SSC CGL 2 Sit. 2013)

Answer Figure:

(d)

o.ﬂ

=

7

(@) (c)

DIRECTIONS (Qs. 32-34) : Which answer figure will complete

the pattern in the question figure?

32. Question Figures :

27.  Question figure
Answer figures

(a) (b) (c) (d)
28. Question figure

<

Answer figures

(a) (b) (© (@
29. From the given answer figures, selec

question figure is hidden/embedded.
Question Figure

S

7 N

Answer Figures :

(SSCCGL 1# Sit. 2013)

AllAalla

A

(a) (d () (d)
33. Question Figures :
t the one in which the
Answer Figures :
(a) (b) (c) (d)
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34. Question Figures :

Lo

Answer Figures :

2! Z

(a) (b) (©) (d)
35. Which one of the answer figures shall complete the given
question figure ? (SSC CGL 1% Sit. 2013)

Question Figure:

Answer Figures:

S W %/
N AN || B2
@ ® © @

36. Which one of the answer figures is hidden in the following
question figure? (SSC CGL 1* Sit. 2013)
Question Figure :

Answer Figures.

BFd EEIETS

(a) (b) (c) (d)
DIRECTIONS (Qs. 37-38): Which answer figure will complete

the pattern in the question figure?

(SSC Stenographer 2013)
37.  Question Figure :

9
o\g'
5

a, 2
6o

Answer Figure :

-
e

4 ;

(a) (b (c) (d)
38.  Question Figure :

Completion of Figures & Embedded Figures
Answer Figure :

ARRE

(a) (b) (c) (d)
39.  Question Figure :

)
¥ 7

Answer Figure :

B | i | R | B

(a) (b) (c) (d)
DIRECTIONS (Qs. 40-41 ): From the given answer figure, select
the one in which the question figure is hidden/embedded.

(SSC Stenographer 2013)

40. Question Figure :

Y

Answer Figure :

= K| & |

(a) (b) (© (d)

41. Question Figure :

]

Answer Figure :

(a) (b) (c) (d)

DIRECTIONS (Qs. 42-43) : Which answer figure will complete
the pattern in the question figure ?

(SSC CGL 1+ Sit. 2014)
42.  Question figure :

Answer figures :

X || DA

(a) (b) (c)

(d)
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43.

45.

47.

3

Question figure :

Answer figures :
AN

a2 A

(a) (b) (c) (d)
From the given answer figures, select the figure which is
hidden/embedded in the question figure.
Question figure :

Answer figures :

VY

(a) (b) (c) (d)
Which answer figure will complete the pattern in the question
figure ? (SSC Sub. Ins. 2014)

Question Figure:

e

Answer Figure:
|| M| M| ™ML

(a) (b} (<) (d)
From the given answer figures, select the one in which the
question figure is hidden/ embedded.
Question Figure: (SSC Sub. Ins. 2014)

Answer Figures:
"~ |\\

I
(a) (b) (c) (d)

From the given answer figures, select the one in which the
question figure is hidden/embedded. (SSC Steno. 2014)
Question Figure

>

Answer Figure

= ] L
& A
@ ) © @

Which answer ﬁgure will oompl'efe the pattern in the quesl'i-on
figure? (SSC Steno. 2014)
Question Figure

Answer Figure

(a) (b) (© (d)

DIRECTIONS (Qs. 49-50) : In guestions below, which anwser
figure will complete the pattern in the question figure ?

(SSC Sub. Ins. 2015)

49.  Question Figure :

3

d

(c)

Answer Figures :

LAl 4 &

(a) (b) (© (d)
51. From the given answer figures, select the one in which the
question figure is hidden/embedded.
Question Figure :

Answer Figures:

i N 7

W | - !
(a) (b) (c) (d)

52.  Which answer figure will complete the question figure ?

(SSC Sub. Ins. 2015)

Question Figure : (SSC CHSL 2014)
QO
(S
Answer Figures :
(a) (b) (c) (d)
53.  Which of the answer figures is embedded in the question
figure ? (SSC CHSL 2014)

Question Figure :

by
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Answer figures :

\r

>

N

Ny

(a)

(b)

(c)

(d)

55.

56.

Which answer figure will complete the pattern in the question
figure? (SSC CHSL 2015)

@ ® © @
From the given answer figures, select the one in which the
question figure is hidden/ embedded.

N

(b)

(SSC CHSL 2015)

(@)

aNy

(c) (d

Which answer figure will complete the pattern in the question
figure ? (SSCCHSL 2015)

(@ * (b)

e
(c) (d)
. /el

DIRECTIONS (Qs. 57-58): In the following Two Questions, which
answer figure will complete the pattern in the questiion figure ?

(SSC CGL 1* Sit. 2015)

57. Question Figure

58.

59.

Answer Figures :
\
(@) Iz (b)

(©)

Question Figure

4 AY

Answer Figures :

o [IN] w1
© \N (d) / /

From the given answer figures, select the one which is hidden/
embedded in the question figure:
Question Figure :

=

Answer Figures :

@ [ ) [1_]
© [ A @ | [/

From the given answer figures, select the one in which the
question figure ishidden / embedded. (SSC CGL 1% Sit. 2015)

2 =
ISL

(a)

()

(b)

d)

i

DIRECTIONS (Qs. 61-62): Which answer figure will complete
the pattern in the question figure ?

61.

(SSC CGL 1% Sit. 2015)
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63.

(@)

©

S

A
&‘7"

-
o[y

© >>

(b)

@

(b)

(@

)%

)>

Which answer figure will complete the pattern in the question

(SSC CGL 1* Sit. 2016)

Select the one in which the question figure is hidden/

(SSC CGL 1* Sit. 2016)

65. Which answer figure will complete the pattern in the question

(SSC CGL 1+ Sit. 2016)

figure?
(a) (b)
(c) (d

—pr—

{l

From the given answer figures, select the one in which the

question figure is hidden/embedded.

(SSCCGL 1* Sit. 2016)

@ 2325; ()

(c) (d)

>

67.  Which answer figure will complete the pattern in the question

figure?

(SSC CGL 1* Sit. 2016)

(@) @ (b)

N

(c) @ (d)

g

68. From the given answer figures, select the one in which the
question figure is hidden/embedded

(SSC CGL 1% Sit. 2016)

R
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71.

o |8
©) Egﬁ

Which answer figure complete the pattern in the question
(SSC CGL 1* Sit. 2016)

figure?

(@)

(b)

(d)

(b)

R
&

From the given figure, select the one in the question the
figure is hidden / embedded

<%
o A

o A

(SSC CGL 1* Sit.2016)

o B
o &

Choose the correct figure to complete the matrix :

Question Figure : (SSC Stenographer 2016)
FANYAN A
0O ? m
O G
Answer Figures:
B m o O
(a) (b) (c) (d)

From the given answer figures, select the one in which the
question figure is hidden/embedded.

Question Figure :

(SSC Stenographer 2016)

Answer Figures:

A2

(a) (b) (c) (d)

DIRECTIONS : In the following questions, which answer figure
will complete the pattern in the question figure.

73.

74.

Question i (SSC Sub. Ins. 2016)
uestion 1gure:

(s 4]

all Iy
[
Answer Figure:

@ |5 o I

o H] ol

Question Figure:

@ |* ® Ll

© | = @ |1

DIRECTIONS : In the following questions, From the given
answer figures, select the one in which the question figure is

hidden/embedded.

75.

76.

(SSC Sub. Ins. 2016)
Question Figure

7,

Answer Figures

(@) ® ||/

(© (d

Which answer figure will complete the pattern in the question
figure? (SSC CGL.2017)
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7.

78.

(@)

©

(b)

(d

O

From the given answer figures, select the one in which the
question figure is hidden/embedded. (SSC CGL. 2017)

@)

© |l

V

®) | L[]

(d) |

Which answer figure will complete the pattern in the question

figure?

AN

) [

(@)

N

(©)

N

(b) &

(d) y

(8SC CGL. 2017)

From the given answer figures, select the one in which the
question figure is hidden/embedded.  (SSC CGL. 2017)

X
@ || o) ||
© ||E @ || ]

Which answer figure will complete the pattern in the question

figure? (SSC CGL.2017)
?
: 7
(@ (b)
(©) (d)

81

83.

85.

From the given answer figures, select the one in which the
question figure is hidden/embedded. (SSC CGL. 2017)

Wi

(d)

/
@ B
il

Which answer figure will come the pattern in the question

figure? (SSC CGL.2017)
?

(@) (b)

() (d)

From given answer figures, select the one in which question
figure is hidden/embedded.

*

(@ -

©

(SSC CGL. 2017)

NG
© (? @ @

From the given answer figures, select the one in which the
question figure is hidden/embedded. (SSCMTS 2017)
Question Figure

-

Answer Figures

(@) (b)

(©) (d)

Which answer figure will complete the pattern in the question
figure? (SSCMTS 2017)

Question Figure

Q
SN
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87

Answer Figures
@)

9N
o |[§/

Which answer figure will complete the pattern in the question

figure?

A

A
NS

(@) *\

Which answer figure will complete the pattern in the question

A
(©)
figure?
[
(a)
L]
(©

From the given answer figures, select the one in which the
question figure is hidden/embedded. (SSC Sub. ins 2017)

(@) O

©

()

@

()

(d

5
o

(SSC Sub. ins 2017)

=N

™

(SSC Sub. ins 2017)

[N
L

(b)

(d

)

(b)

(d)

89. From the given answer figures, select the one in which the
question figure is hidden/embedded.(SSC Sub. ins 2017)

91.

92.

i

(@) (b)
1]
(© @ (|[/
Which answer figure will complete the pattern in the question
figure? (SSC Stenographer 2017)
L ] L
EANRa
/1 9
. i
Ss
(@ (b)
[ ]
(] =
(©) ()
. °

From the given answer figures, select the one in which the

question figure is hidden/embedded.

d

(a) @
e
© ||

(SSC Stengrapher 2017)

(b)

(d)

@)

Select the figure in which the given figure is embedded.

AN

(a)

(©)

(b)

(d)

(SSCCGL 2018)
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93.

95.

97.

Select the figure in which the given figure is embedded.
(Rotation is not allowed) (SSC CGL 2018)

Select the option in which the given figure (X) is embedded

(rotation not allowed). (SSC CHSL 2018)
<€

X)

(@

& ®) (@
© |l o || @

Select the option in which the given figure is embedded.
(Rotation is not allowed) (SSC Sub. Ins. 2018)

@) (b)

(©

Select the option in which the given figure is embedded.
(SSC Sub. Ins. 2018)

B

@ (b)

S
<P

© (d

Choose the option figure in which the problem figure is
hidden embedded. (SSC Stenographer 2018)
Problem figure:

oS

[ I

@ [HHH ®) © @
[
Select the option figure in \;hich the given figure is embedded

(rotation 1s NOT allowed). (SSC CGL 2019-20)
/_/
o —— H
@ Rt ®) [T
o H [ A
(©) (d

Select the option in which given figure is embedded.
(Rotation is not allowed) (SSC MTS 2019-20)

{

(@) (b)

(© (d)

. Study the given pattern carefully and select the figure that

will complete the pattern given in the question figure.
(SSCMTS 2019-20)

1

I n

o -

(a) | (b) ] (c) .30 (d)

- - A L

. Select the option in which the given figure is embedded.

(Rotation is not allowed)

<> I
g @
@ B

(SSC CHSL 2019-20)

(@)




214

Completion of Figures & Embedded Figures

102.

103.

Select the option in which the given figure is embedded
(rotation is NOT allowed). (SSC CGL 2020-21)

"0

(@)

(b)

—
© |4 @

2

Select the option figure which contains figure X embedded
in it as its part (rotation is NOT allowed).
(SSC CHSL 2020-21)

Figure X
q [
@ T ®)
| | =
(©) hj—[]" (d) m_+:

Select the option in which the given figure is embedded
(rotation is NOT allowed). (SSC MTS 2020-21)

A

@ B

N
<

(b)

(©)

(d

105.

106.

107.

108.

Select the option figure, which when placed in the blak space
of the figure would complete the pattern.

(SSCMTS 2020-21)
Select the option figure in which the given figure is

embedded rotation is NOT allowed.
(SSC Stenographer 2020-21)

(@) (b)

(©) (d)

| i | HE
() @ | Hg
B TN

Select the opiion figure which is_;IOT embedded in the
figure (X) given below (rotation is NOT allowed).
(SSC Sub-Inspector 2020-21)

(X)

(@) (b) 5 (©) @) (d)

Select the option in which the given figure (X) is embedded
(rotation is NOT allowed). (SSC Sub-Inspector 2020-21)

5

X)

7 AL
(a) (b) TS

: S~—
© £ (d)
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Hints & Solutions

L (d) 30. (c)

T 5O
31 (d) = -

3 (o) NG o0
* +*

4 (0 = *
//\\ AVANYE
NV s

5 (b) 6. (d)

7. (d) Option (d) will complete the question figure.

8 (b) Option (b) isthe hidden/ embedded figure.

9.

(c) 10. (c) 33. (d)

1. (d) 4. (o)
| @F—’ER‘?
":f\','.

OS]
2 b [
’: 35. (b)
3. (@) 14 (b)

15. (b)
36. (c) ng

16. (b) 37 (@ 38 (¢) 39. (b)  40. (d) 41. (b)
17. () 2 d 4. (b 4 d 45 @) 46. (b)
47. (@) 48 () 49. (@  50. (¢
51. (a)
18 (@ 190 (¢ 20. (@ 2L (d) 2. (d)
23. (b)
24. (b) 52 @@ 53. (© 54 (d)

'/ 55. (a) The figure I \: is embedded in

25. (¢) 26. (c) 27. (c)

28 (b) 56. (b) Dotisonlyin first circle so figure (b) will complete the
/ 2 picture in the question figure.
N 57. (a) 58. (c)
59. (b)

29. (¢) @
60. (b)
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61.

63.

74.
75.
76.
81.

88.

95.

(@

(a)

(©
(d
(@)
(d)
(b)
@
(a)
(d)

(@)

(©

@)
(©

(©

~

U

64 (b)
69. (a)
Option (
Option (
Option (
77. (a)
82. (a)

65. (a)
70. (b)
a) is correct
d) is correct
b) is correct
78. (a)
83. (b)

66. (b)
71. (b)

79. (a)

85.

87.

91.

(b)

(©)

(b)

(©

67. (b)
7. (b)

80. (c)

9. (d)

100. (b)

101. (c)

102. (a)

103. (d)

104. (a)

105. (c)

106. (d)
107. (a)
108. (d)

O
+
O

= |/

[

In option (c) given figure is embedded.

N/

N\

Figure in option (c) would complete the pattern of the

question figure.

figure is embedded in answer figure (d).
Option (a) is not embedded in the figure (X).

Given question figure is embedded in answer figure (d).



